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8.  12ax? - 12axy + 3ay? & A5E3|51H?

@ 12(ax — ay)? @ 6a(x—y)? ® (6ax —ay)?

@ 3a(x-y)? ® 3a(2x-y)?
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@ 2x2+7x+6

@ x*-4

O 2x2+3x-2

® 3x24+T7x+2

@ x24+x-6



10. a>3 4™, \/(-3a)2- \/(a-3)2

@ -4a-3

@ 2a-3 ® 2a+3
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@ 132 Atolofl= 43

® 9,0 @ 0,6
@ ©,6.0 ® 09,0,6,0



12. o5 F di4 HaE 2HEA| o A27

D V2+1=3 @ V2<14
® 1> V1 @ V15 <14

® V5+V6<2+ V6
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@ 6 7| @ 7 @ 8 7 ® 9 7



14. 75x2-12y? = a(bx+cy)(bx—cy) @ W, AT a, b, c &l Fa+b+c
o] k& o7

® 10 @ 15 ® 20 @ 26 ® 28
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® 3(1-a) @ 3(a-2) ® 3a-3
@ 3a-1 ® a*-3



